41. Sulphur is not the component of which of the following?
a. Biotin
b. Ascorbic acid
c. Thiamin
d. Coenzyme A
Answer - b.	Ascorbic acid

42. Ribosome structure is maintained by which essential element in plants:
a. Fe 
b. P
c. Mn
d. None of these
Answer - d.	None of these [Mg]

43. Which of the following element is present in methionine?
a. Mn
b. Zn
c. Mg
d. S
Answer - d.	S

44. Catalase enzyme is activated by:
a. Zn
b. Ni
c. Fe
d. Mg
Answer - c.	Fe

45. Plants obtain iron as:
a. Iron atom
b. Ferrous
c. Ferric
d. [bookmark: _GoBack]None of these
Answer - c.	Ferric
